

College of Education for pure Science

Department of Biology

Morning study – **first** Grade

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	practical cytology group B		practical cytology group C		practical cytology group A	
Monday	Organic Chemistry		Freedoms	foundation of education		
Tuesday	English		cytology	Computer Science		
Wednesday	practical Organic Chemistry group A General Botany C		practical Organic Chemistry group B General Botany A			Chemistry group C Botany B
Thursday	General	l Botany				



College of Education for pure Science

Department of Biology

Morning study – Second Grade

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	practical Archegonia group A		practical Archegonia group C		practical Archegonia group B	
Monday	practical Embryology group A		practical Embryology group B		practical Embryology group C	
Tuesday	Archegonia		Biochemistry		Invertebrates 2	
Wednesday	Educational administration		Biostatistics		Embryology	
Thursday	practical Invertebrates group A practical Biochemistry group B		practical Invertebrates group C practical Biochemistrygroup A		practical Invertebrates group B practicalBiochemistry group C	



College of Education for pure Science

Department of Biology

Morning study – Third Grade

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day		10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	applied insects (Entomology)		Fungi (Mycology)		practical Biotechnology all group	
Monday	practical plant classificationA practicalEntomology B practical Mycology C practical Genetics D		practical plant classificationB practical Entomology C practical Mycology A practical Genetics D		practical plant classificationC practical Entomology A practical Mycology B practical Genetics D	
Tuesday	practical Physiology group C		practical Physiology group A		practical Phys	siology group B
Wednesday	Biotechnology		English		guidance	
Thursday	Gen	etics	plant classification (Taxonomy)		Animal Physiology	



College of Education for pure Science

Department of Biology

Morning study – Fourth Grade

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	Cellular metabolism		public health			
Monday	Choice (Selection)		Parasites 2		pollution	
Tuesday	practical Cellular metabolism A practical Immunology B practical pollution C		practical Cellular metabolism B practical Immunology C practical pollution A		practical In	ar metabolism C nmunology A pollution B
Wednesday	practical Parasites 2 group A		practical Parasites 2group B		practical Parasites 2group C	
Thursday	Immunology		Teaching applications		researcl	h project



College of Education for pure Science

Department of

Evening study – First Grade

Weekly Timetable for 2nd Semester / 2020-2021

Time	12.00 – 1.00	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 -5.00	5.00 - 6.00
Day	12.00 – 1.00	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 -5.00	5.00 - 0.00
Sunday	practical cytology2 group A		practical cytology2 group B		practical cytology2 group C	
Monday	Organic Chemistry		Freedoms	foundation of Education		
Tuesday	English		cytology 2			
Wednesday	practical Organic Chemistry group A General Botany C		practical Organic Chemistry group B General Botany A		(Chemistry group Botany B
Thursday	General	General Botany		Computer		



College of Education for pure Science

Department of

Evening study – Second Grade

Time	12.00 1.00	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 -5.00	5.00 - 6.00
Day	12.00 – 1.00	1.00 – 2.00	2.00 – 3.00	3.00 - 4.00	4.00 -5.00	5.00 - 0.00
Sunday	practical Archegonia group A		practical Archegonia group C		practical Archegonia group B	
Monday	practical Embryology group A		practical Embryology group B		practical Embryology group C	
Tuesday	Archegonia		Invertebrates 2		Biochemistry	
Wednesday	Biostatistics		Educational administration		Embryology	
Thursday	practical Invertebrates2 group A practical Biochemistry group B		practical Invertebrates2 group C practical Biochemistry group A		-	ebrates2 group B emistry group C



College of Education for pure Science

Department of

Evening study – Third Grade

Time	12.00 – 1.00	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 -6.00	6.00 – 8.00
Day	12.00 – 1.00	1.00 – 2.00	2.00 – 3.00	3.00 - 4.00	4.00 -0.00	0.00 – 8.00
Sunday	Applied insects (Entomology)		Fungi (Mycology)		practical Biotechnology all group plant classification (Taxonomy)	
Monday	practical plant classification A practical Entomology B practical Biotechnology C		practical plant classification B practical Entomology C practical Biotechnology A		practical plant classification C practical Entomology A practical Biotechnology B	
Tuesday	practical Physiology group C		practical Physiology group A		practical Physiology group B	
Wednesday	practical Genetics A practical Mycology B		•		practical Genetics C practical Mycology A	
Thursday	Guid	ance	English	Biotechnology	Animal Physiology Genetics	



College of Education for pure Science

Department of

 $\underline{\textbf{Evening}} \ \textbf{study} - \underline{\textbf{Fourth}} \ \textbf{Grade}$

Time Day	12.00 – 1.00	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 -6.00	6.00 – 8.00
Sunday	Cellular metabolism		public health		pollution	
Monday	Choice (Selection)		practical Immunology B		practical Immunology C practical Immunology A	
Tuesday	practical Cellular metabolism A practical pollution C		practical Cellular metabolism B practical pollution A		practical Cellular metabolism C practical pollution B	
Wednesday	practical Parasites 2 group A		practical Parasites 2 group B		practical Paras	ites 2 group C
Thursday	Immunology		Teaching applications		Parasites 2	Research